TARGET To use negative numbers in the context of temperature and
calculate across zero.

Example
Find the difference in temperature between A and B.
C % A=-8C -8°C—0°C=8C
PRI EEARS EARRE RN RN B = 7L 0°C —= 7°C =7°C
~10] 0 L —8°C — 7°C = (8 + 7)°C = 15°C
A B Answer 15°C
Write the temperature For each thermometer, find o Cépy and complete
shown by each letter. the difference between: this table showing
a) XandZ the maximum and
b) WandY minimum temperatures
¢) Xandy for different places.
2 C|r|i1|lll+|l{+l|lllil|_) d) Wand Z‘ M i
-107-5 1o 15 1o ° o _co
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e C 11°C 54°C
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|IIII|IIII|I!II|HH] _40C 23°C
-1¢ st ot st 10 : 5
W X Y 7 467C 1 527C
1l P ~37°C
B4 — 35°C #167C
i 53°C 7c
F 2 Q@ gt o
O ol 970 Z23°C
@ i 6670 1 —35°C
What was the coldest Pl s o 0
: ; i 47°C 0 ~54°C
emperature recorded? g |—| 53°C | —28°C
e H _10 T (R S [ T
) On which days was M Tu W Th F 28°C | —41°C
the temperature below Days
0°C? ) Find t :
o il b tillin e Find tlhe range between
@ What was the fall in temperature from: the hlgh?t and lowest
temperature from: RHIpelduls Byl
¢ ) Moncay s lucncd recorded in each UK

a) Monday to Tuesday
b) Wednesday to
Thursday?

€3 What was the rise in ! England | 38-5°C —26-1°C E
temperature from: '

a) Tuesday to a) Wednesday to Scotland 32'9:C —27-2:C |
Wednesday Thursday Wales 35,2°C| =~23.3°C
b) Thursday to Friday? b) Thursday to Friday? NI 30-8°C | —18-7°C

b) Tuesday to
Wednesday?

o What was the rise in
temperature from:

~ country.




TARGET To solve number puzzles involving the addition and
subtraction of positive and negative numbers.

= | % | =1 Example
In a magic square the Row 4+=2+—-8=-§
sum of each row, column 4 |1-2| -8 Column 2+—=2 +—6==6
and diagonal is the same. =3 | =£| 3 Diagonal 3+ -2+ -7=-6

Copy and complete the following magic squares.

A B C
o . @ 0, 2

14 1 =8| ¥ & | =¥

17 | 6 —d| 3 |i—=2 — 3
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1|5 |
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25 1 2 1—2

57 5 41 1

18 46 6 I 5|2 2




TARGET To practise addition and subtraction for larger numbers.

Examples
4101213 1 61115 91
345 685 SX3A40 L 26 035
+269 217 —28547 =149 5§ 7
614 902 227953 576 464

108 | R

A B C

Copy and complete. Copy and complete. Set out as in the example.

@ There are 3594

passengers on board

a cruise ship. 1768
more passengers come
on board. How many
passengers are there
now on the ship?

@ Between 10am and
11 am, 8130 people
enter a shopping mall
and 6143 people
leave. How many
more people are in the
mall at 11 am than at
10am?

@ Rangers play Rovers both
at home and away. The
matches are watched by
crowds of 49 384 and
37957. What is the total
attendance for the two
matches?

@ In one year a delivery
van is driven 61 380

miles. This is 16 487 miles
further than during the
previous year. What was
the van’s mileage in the
first year?

©@ 277 @ 128¢ @ 16794 @ 44256 @ 374948 + 126954
+ 579 ~ 907 +14618 - 35873
g == T © 293895 -+ 206835
@ 4885 5431 e 53479 o 82512 o 535767 + 293 872
+2626 — 3685 +35635 —40574 O o .
966574 + 3
3 ;{53; © f;ig © 27856 @ 56434 © 759486 + 472594
P2 L +27348 ~27693
O 688659 + 217696
" f‘;:; © i g;ﬁ © 45645 @ 93185
T = +19657 ~13986 @ 715423 - 597464
6396 9540 604 635 — 326690
09 69 B
+33457 ~29588 © 453242 - 196597
4968 @ 7213 860317 — 283718
+ 4895 — 3724 QO 54563 @ 31620 @
%l g +19638 —24926 @ 542160 — 479577

@® 937054 - 739486

@ A manufacturing
company has annual
sales of £851 602 and
expenses of £164918.
How much profit is
made?

@ In ten years the
population of a
city increases from
457485 to 537 240.
By how much has the
population increased?



TARGET  To practise short multiplication of whole numbers and decimals.

Examples

Work from the 2 YrLs

right and carry. X 7
27 825

B 53

A

Copy and complete.

@ 13 @ 905

X 3 X 4

87-2
>

Work out

®s27x4 € 319x%2
D 263 x7
P 508 x 2
D 436 x 8

& 657 x 3
D 386 x6
© 840 x9
€) 924 x 5

40-28
X 6
241-68
1 4
B
Copy and complete.
© 2007 @ 8435
%8 “ A
© 1559 @ 3762
X__i X 9
© 428 @ 2538
X__M_S X 7
© 674 @ 392
)(_Z X 4
© 71398 @ o907
W i
©Q 96 @ 6175
% %8
Work out

@ 2348 x6 € 4652 x 11

@ 7290 x3 B 7048 x6

@ 3582x5 ) 6537 x4
@ 1594x9 € 9124x5

@ 7408 x4 € 4286x7

D 6815 x 12 € 37.05 x 12

® 2936 x8 € 2857 x9
@ 5049x7 € 5079 x8

Align decimal
points.

C

Work out

@ 13269 x5
© 54706 x 3
© 29548 x 12
© 161437 x5

© 47095 <8

O 135176 <7
@ 269840 x 9
© 183501 x 1

© 39219 x4
Q@ 73867 x 2
@ 92674 x 11
@ 24908 x 7

® 61357 x9
D 52836 x8
@ 36179 x 12
D 27485 x 6

@ A delivery firm
buys seven new
vans, each costing
£16549. What is
the total cost of the
vans?

@ One box of tiles
weighs 23-875kg.
What is the total
weight of six boxes?



TARGET To practise short multiplication of whole numbers and decimals.

Examples
Work from the 5704
right and carry. X 8
45 632
5 3

Copy and complete.

Q@ 366« @ 97
K O
O 173 @ s
¥ 8 X4 6
© 29 @ o4
) XKoo
© 246 © 26
K ¥ %8
Work out

© ss7x2 @ 97x3
Q175x9 @ 74x6
@ 346x5 B 38x4
@ 285x8 O s9x7

@ One biscuit weighs
8-:2g. What do seven
biscuits weigh?

@ On one day 258
people visit a stately
home. The entrance
fee is £9. How much is
taken in entrance fees?

62-58
% 9
56322
Zs
Copy and complete.
©Q 1564 @ 1953
X ) o 32
© 396 @ 2465
X X 6
© 4638 @ 6328
b4 8 X 4
© 3739 @ 2307
3.9 7
Work out

© 4795x3 @ 4026>
QO 1824 x9 @ 2091

@ 5237 x11 Q 7832 <5

D 8578 x4 Q 207>

0 One side of a square

12

picture frame is 37-25 cm.

What is its perimeter?

D stacey earns £2947 each
month. How much does
she earn in six months?

Align decimal
points.

Cc

Work out
Q1527 <6
© 14936 x 7
© 159318 x 3
© 237284 x 11

© 25179 %9
0@ 290567 x 2
@ 143658 <8
© 26745 x 12

© 82092 x4
Q s8274x7
@ 30498 x 6
@ 19563 x 11

@ 63084 %9
Q 197356 x 5
D 71902 x 8
@ 84039 x 12

@ There are eight stock
cubes in each box.
How many cubes
are there in 176 245
boxes?

@ Basil earns £2719:50
per month, How
much does he earn
in 12 months?



